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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.521 ±Constant = 14.05 

 0.1606 ±Mean     = 139.4 

 0.1135 ±Sigma    = 1.817 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.521 ±Constant = 14.05 

 0.1606 ±Mean     = 139.4 

 0.1135 ±Sigma    = 1.817 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.572 ±Constant = 14.53 

 0.1554 ±Mean     = 140.7 

 0.1099 ±Sigma    = 1.758 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.572 ±Constant = 14.53 

 0.1554 ±Mean     = 140.7 

 0.1099 ±Sigma    = 1.758 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 2.027 ±Constant = 18.73 

 0.1205 ±Mean     = 141.2 

 0.08521 ±Sigma    = 1.363 

Chip 2 Vt50 at 2.00fC Nent = 128    
 2.027 ±Constant = 18.73 

 0.1205 ±Mean     = 141.2 

 0.08521 ±Sigma    = 1.363 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.828 ±Constant = 16.89 

 0.1336 ±Mean     = 138.8 
 0.09448 ±Sigma    = 1.512 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.828 ±Constant = 16.89 

 0.1336 ±Mean     = 138.8 
 0.09448 ±Sigma    = 1.512 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.473 ±Constant =  13.6 

 0.1659 ±Mean     =   139 
 0.1173 ±Sigma    = 1.877 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.473 ±Constant =  13.6 

 0.1659 ±Mean     =   139 
 0.1173 ±Sigma    = 1.877 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.714 ±Constant = 15.83 

 0.1426 ±Mean     = 137.1 
 0.1008 ±Sigma    = 1.613 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.714 ±Constant = 15.83 

 0.1426 ±Mean     = 137.1 
 0.1008 ±Sigma    = 1.613 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.753 ±Constant = 16.19 
 0.1394 ±Mean     = 53.93 
 0.09855 ±Sigma    = 1.577 

Chip 0 Gain at 2.00fC Nent = 128    

 1.753 ±Constant = 16.19 
 0.1394 ±Mean     = 53.93 
 0.09855 ±Sigma    = 1.577 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.165 ±Constant =    20 
 0.1128 ±Mean     = 54.16 
 0.07977 ±Sigma    = 1.276 

Chip 1 Gain at 2.00fC Nent = 128    

 2.165 ±Constant =    20 
 0.1128 ±Mean     = 54.16 
 0.07977 ±Sigma    = 1.276 
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Chip 2 Gain at 2.00fC Nent = 128    

  2.34 ±Constant = 21.61 
 0.1044 ±Mean     = 54.62 
 0.07383 ±Sigma    = 1.181 

Chip 2 Gain at 2.00fC Nent = 128    

  2.34 ±Constant = 21.61 
 0.1044 ±Mean     = 54.62 
 0.07383 ±Sigma    = 1.181 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.583 ±Constant = 23.86 

 0.09459 ±Mean     = 51.86 

 0.06689 ±Sigma    =  1.07 

Chip 3 Gain at 2.00fC Nent = 128    
 2.583 ±Constant = 23.86 

 0.09459 ±Mean     = 51.86 

 0.06689 ±Sigma    =  1.07 
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Chip 4 Gain at 2.00fC Nent = 128    
 1.753 ±Constant = 16.19 

 0.1394 ±Mean     = 53.43 

 0.09856 ±Sigma    = 1.577 

Chip 4 Gain at 2.00fC Nent = 128    
 1.753 ±Constant = 16.19 

 0.1394 ±Mean     = 53.43 

 0.09856 ±Sigma    = 1.577 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.099 ±Constant = 19.39 

 0.1164 ±Mean     = 51.25 

 0.08231 ±Sigma    = 1.317 

Chip 5 Gain at 2.00fC Nent = 128    
 2.099 ±Constant = 19.39 

 0.1164 ±Mean     = 51.25 

 0.08231 ±Sigma    = 1.317 
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Chip 0 Extrapolated Offset Nent = 128    
 2.712 ±Constant = 25.06 

 0.1801 ±Mean     =  30.4 
 0.1274 ±Sigma    = 2.038 

Chip 0 Extrapolated Offset Nent = 128    
 2.712 ±Constant = 25.06 

 0.1801 ±Mean     =  30.4 
 0.1274 ±Sigma    = 2.038 
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Chip 1 Extrapolated Offset Nent = 128    
 3.213 ±Constant = 29.68 

 0.1521 ±Mean     = 30.77 
 0.1075 ±Sigma    = 1.721 

Chip 1 Extrapolated Offset Nent = 128    
 3.213 ±Constant = 29.68 

 0.1521 ±Mean     = 30.77 
 0.1075 ±Sigma    = 1.721 
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Chip 2 Extrapolated Offset Nent = 128    

 3.053 ±Constant =  28.2 

  0.16 ±Mean     =  29.6 
 0.1132 ±Sigma    = 1.811 

Chip 2 Extrapolated Offset Nent = 128    
 3.053 ±Constant =  28.2 

  0.16 ±Mean     =  29.6 
 0.1132 ±Sigma    = 1.811 
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Chip 3 Extrapolated Offset Nent = 128    

 3.567 ±Constant = 32.95 
 0.137 ±Mean     = 33.06 
 0.09687 ±Sigma    =  1.55 

Chip 3 Extrapolated Offset Nent = 128    

 3.567 ±Constant = 32.95 
 0.137 ±Mean     = 33.06 
 0.09687 ±Sigma    =  1.55 
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Chip 4 Extrapolated Offset Nent = 128    

  2.62 ±Constant =  24.2 
 0.1865 ±Mean     = 30.88 
 0.1319 ±Sigma    =  2.11 

Chip 4 Extrapolated Offset Nent = 128    

  2.62 ±Constant =  24.2 
 0.1865 ±Mean     = 30.88 
 0.1319 ±Sigma    =  2.11 

Extrapolated Offset (mV)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 5 Extrapolated Offset Nent = 128    

 2.935 ±Constant = 27.11 
 0.1665 ±Mean     = 33.13 
 0.1177 ±Sigma    = 1.883 

Chip 5 Extrapolated Offset Nent = 128    

 2.935 ±Constant = 27.11 
 0.1665 ±Mean     = 33.13 
 0.1177 ±Sigma    = 1.883 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 3.741 ±Constant = 34.56 

 4.354 ±Mean     =  1556 

 3.078 ±Sigma    = 49.26 

Chip 0 Input Noise at 2.00fC Nent = 128    
 3.741 ±Constant = 34.56 

 4.354 ±Mean     =  1556 

 3.078 ±Sigma    = 49.26 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.926 ±Constant =  45.5 

 3.307 ±Mean     =  1553 
 2.338 ±Sigma    = 37.41 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.926 ±Constant =  45.5 

 3.307 ±Mean     =  1553 
 2.338 ±Sigma    = 37.41 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 5.511 ±Constant =  50.9 

 2.956 ±Mean     =  1515 
  2.09 ±Sigma    = 33.44 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.511 ±Constant =  50.9 

 2.956 ±Mean     =  1515 
  2.09 ±Sigma    = 33.44 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.617 ±Constant = 42.65 
 3.527 ±Mean     =  1545 
 2.494 ±Sigma    = 39.91 

Chip 3 Input Noise at 2.00fC Nent = 128    

 4.617 ±Constant = 42.65 
 3.527 ±Mean     =  1545 
 2.494 ±Sigma    = 39.91 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 3.396 ±Constant = 31.37 
 4.796 ±Mean     =  1546 
 3.391 ±Sigma    = 54.27 

Chip 4 Input Noise at 2.00fC Nent = 128    

 3.396 ±Constant = 31.37 
 4.796 ±Mean     =  1546 
 3.391 ±Sigma    = 54.27 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 3.886 ±Constant =  35.9 
 4.191 ±Mean     =  1592 
 2.963 ±Sigma    = 47.41 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.886 ±Constant =  35.9 
 4.191 ±Mean     =  1592 
 2.963 ±Sigma    = 47.41 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.588 ±Constant = 14.67 

 0.1539 ±Mean     = 142.9 

 0.1088 ±Sigma    = 1.741 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.588 ±Constant = 14.67 

 0.1539 ±Mean     = 142.9 

 0.1088 ±Sigma    = 1.741 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.676 ±Constant = 15.48 

 0.1457 ±Mean     = 141.2 

 0.103 ±Sigma    = 1.649 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.676 ±Constant = 15.48 

 0.1457 ±Mean     = 141.2 

 0.103 ±Sigma    = 1.649 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.579 ±Constant = 14.59 

 0.1547 ±Mean     = 140.6 

 0.1094 ±Sigma    =  1.75 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.579 ±Constant = 14.59 

 0.1547 ±Mean     = 140.6 

 0.1094 ±Sigma    =  1.75 
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Chip 3 Vt50 at 2.00fC Nent = 128    
  1.19 ±Constant = 10.99 

 0.2054 ±Mean     =   139 
 0.1452 ±Sigma    = 2.323 

Chip 3 Vt50 at 2.00fC Nent = 128    
  1.19 ±Constant = 10.99 

 0.2054 ±Mean     =   139 
 0.1452 ±Sigma    = 2.323 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.151 ±Constant = 10.63 

 0.2123 ±Mean     = 139.2 
 0.1501 ±Sigma    = 2.402 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.151 ±Constant = 10.63 

 0.2123 ±Mean     = 139.2 
 0.1501 ±Sigma    = 2.402 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.042 ±Constant = 9.624 

 0.2345 ±Mean     = 143.3 
 0.1658 ±Sigma    = 2.653 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.042 ±Constant = 9.624 

 0.2345 ±Mean     = 143.3 
 0.1658 ±Sigma    = 2.653 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.063 ±Constant = 19.06 
 0.1184 ±Mean     = 54.96 
 0.08373 ±Sigma    =  1.34 

Chip 0 Gain at 2.00fC Nent = 128    

 2.063 ±Constant = 19.06 
 0.1184 ±Mean     = 54.96 
 0.08373 ±Sigma    =  1.34 
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 2.018 ±Constant = 18.65 
 0.121 ±Mean     = 54.79 
 0.08558 ±Sigma    = 1.369 
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 2.005 ±Constant = 18.52 
 0.1219 ±Mean     = 54.46 
 0.08616 ±Sigma    = 1.379 
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 2.005 ±Constant = 18.52 
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 2.127 ±Constant = 19.64 

 0.1149 ±Mean     = 53.62 

 0.08123 ±Sigma    =   1.3 
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 0.08123 ±Sigma    =   1.3 
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 2.299 ±Constant = 21.23 

 0.1063 ±Mean     = 52.71 

 0.07515 ±Sigma    = 1.203 

Chip 4 Gain at 2.00fC Nent = 128    
 2.299 ±Constant = 21.23 

 0.1063 ±Mean     = 52.71 

 0.07515 ±Sigma    = 1.203 
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 2.068 ±Constant =  19.1 
 0.1182 ±Mean     = 56.54 

 0.08355 ±Sigma    = 1.337 
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 2.068 ±Constant =  19.1 
 0.1182 ±Mean     = 56.54 

 0.08355 ±Sigma    = 1.337 
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 2.815 ±Constant = 26.01 

 0.1735 ±Mean     = 29.36 
 0.1227 ±Sigma    = 1.963 
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 2.815 ±Constant = 26.01 

 0.1735 ±Mean     = 29.36 
 0.1227 ±Sigma    = 1.963 
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 2.668 ±Constant = 24.64 

 0.1831 ±Mean     = 29.66 
 0.1295 ±Sigma    = 2.072 
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 2.668 ±Constant = 24.64 
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 0.1295 ±Sigma    = 2.072 
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 2.955 ±Constant =  27.3 

 0.1654 ±Mean     =  29.5 
 0.1169 ±Sigma    = 1.871 
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 2.955 ±Constant =  27.3 

 0.1654 ±Mean     =  29.5 
 0.1169 ±Sigma    = 1.871 
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 2.345 ±Constant = 21.66 
 0.2084 ±Mean     = 30.31 
 0.1473 ±Sigma    = 2.358 
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 2.345 ±Constant = 21.66 
 0.2084 ±Mean     = 30.31 
 0.1473 ±Sigma    = 2.358 
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 2.276 ±Constant = 21.02 
 0.2147 ±Mean     = 31.38 
 0.1518 ±Sigma    = 2.429 
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 2.276 ±Constant = 21.02 
 0.2147 ±Mean     = 31.38 
 0.1518 ±Sigma    = 2.429 
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 2.131 ±Constant = 19.69 
 0.2292 ±Mean     = 27.49 
 0.1621 ±Sigma    = 2.594 
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 2.131 ±Constant = 19.69 
 0.2292 ±Mean     = 27.49 
 0.1621 ±Sigma    = 2.594 
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 5.129 ±Constant = 47.38 

 3.175 ±Mean     =  1470 

 2.245 ±Sigma    = 35.93 
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 5.129 ±Constant = 47.38 

 3.175 ±Mean     =  1470 

 2.245 ±Sigma    = 35.93 
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 4.234 ±Constant = 39.11 
 3.847 ±Mean     =  1522 

  2.72 ±Sigma    = 43.52 
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 4.234 ±Constant = 39.11 

 3.847 ±Mean     =  1522 

  2.72 ±Sigma    = 43.52 
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 4.181 ±Constant = 38.62 

 3.896 ±Mean     =  1568 

 2.755 ±Sigma    = 44.08 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.181 ±Constant = 38.62 

 3.896 ±Mean     =  1568 

 2.755 ±Sigma    = 44.08 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.652 ±Constant = 42.98 
 3.501 ±Mean     =  1573 
 2.475 ±Sigma    = 39.61 
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 4.652 ±Constant = 42.98 
 3.501 ±Mean     =  1573 
 2.475 ±Sigma    = 39.61 
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 4.473 ±Constant = 41.32 
 3.641 ±Mean     =  1556 
 2.575 ±Sigma    =  41.2 

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.473 ±Constant = 41.32 
 3.641 ±Mean     =  1556 
 2.575 ±Sigma    =  41.2 
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 4.288 ±Constant = 39.61 
 3.798 ±Mean     =  1477 
 2.686 ±Sigma    = 42.97 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.288 ±Constant = 39.61 
 3.798 ±Mean     =  1477 
 2.686 ±Sigma    = 42.97 
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